SHARADA RESIDENTIAL SCHOOL, UDUPI
ENTRANCE EXAMINATION -~ CLASS IX
Duration : 2 hrs. SYLLABUS Max. Marks : 150

Note: This booklet consists of THREE parts. They are:

Part | English 40 mins. | 50 Marks
Part 1 Mathematics 40 mins. | 50 Marks
Part Il | Kannada/Hindi 40 mins. | 50 Marks
(Any ONE Language)
ENGLISH
I Identify the Principal Clause and the Subordinate Clause. [5]

Eg.: He said that he went for a movie.

Ans : He said — Principal Clause ; that he went for a movie — Subordinate Clause

Interchange of Degrees of Comparison : [5]
Eg.: He is the naughtiest boy in the class.

Ans : No other boy in the class is as naughty as he is.

Interchange of ‘IF’ and ‘Unless’ : [5]
Eg.: If he does not listen to his teacher, he will suffer.

Ans : Unless he listens to his teacher, he will suffer.

Active and Passive Voice : [5]
Eg.: The boy kicks the ball.

Ans : The ball is kicked by the boy.

Letter Writing. [10]
Essay Writing. [10]
Comprehension : Read the passage carefully and answer the questions. [10]

MATHEMATICS

Syllabus to prepare :

NG~ E

Rational and Irrational number, factorization, squares and square roots, cube and cube roots.
Operations on fractions, decimals and integers.

Fundamental concepts and operations on Algebraic expressions.

Exponents.

Percentage, Simple interest, Compound interest, Profit and loss.

Linear equations.

Avrea and perimeter of rectilinear figures.

Lines and angles.

Question paper pattern :

Fill in the blanks : [15x 1 =15]
L i 2 2
Eg. : 1. Rationalise the denominator — . [Ans : —\/g]
N — 5
2. Find the cube of 0.02 = . [Ans : 0.000008]
Choose the correct answer : [15x 1 =15]

1. Simplify : 22 x23x2”’ [2‘8,28,26,2%j [Ans : 2_13]

2. Multiply 8x* by —5x (35x°,40x°,—40x>,x>)  [Ans: 40x°]
Do as directed : [5x2=10]
1. Find the amount and the compound interest on ¥200 for 1 year at 5% per annum, compounded

annually. [Ans : ¥10]
2. Find the square root of 0.0025. [Ans : 0.05]




v

1.
2.

Solve the following : [4 x 2%2 = 10]

Factorize : a° — 14a + 49 [Ans : (a-7) (a-7)

In the adjoining figure, what value of x will make AOB, a straight line.

(3X + 20)° (4 —36)° Ans:x = 28
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